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Instructions for the candidates :-

1. wienfi OMR SR U3 UR (0T U YRABT HHID (10 3febi BI) ALY
fored |
Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. oRIefl JATEa 370 Tl H & IR S |
Candidates are required to give answers in their own words as far
as practicable.

5. i @ik SRR W RY gy i quie Miffe ok §
Figures in the right hand margin indicate full marks.

4. gedl I YD UG & oy qRiental &I 15 e &1 ifaRed a9y

feam T 2|



15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U3 GRAHT &1 oSl H 8, WUS—3 Ud EUs—4 |

This question Booklet is divided into two sections: Section-A and
Section-B.

Gus—3 H 100 TS U 8, NFH 9 fb=gl 50 YAl BT SR <l
g g1 U W IfE Ul @ SR oF W UM 50 ITRI BT Bl
ARG fHar S| 96 U & o 1 o fgiRa 21 98 SR

Iuee IR T OMR SR 99& # &3 T &1 g &I el /Bl afed

U W fE W PR @ @R /IR U /&€ /ARG 3Mfe Bl

STR—YRIPT H YANT HRAT F1 &, AT el aiRomd 3= 8 |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answer will be
evaluated in case more than 50 questions are answered. Each
Question carries 1 mark. Darken the circle with blue/black ball pen
against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/liquid/blade/nail etc. on OMR-Sheet,

otherwise the result will be invalid.

Yue—q ¥ 30 TSI U T | IS UH B forg 2 ofw FeiRa g,

R I fh=sl 15 99T &1 SR AT AfaR 2 | s9% JIfaR«d, 59 wvs
H g &F ST U ¥ 2 e U & forv 5 3fe fEiRa g,

o8 9 58l 4 U9l &1 IR 1 2|



In Section-B, there are 30 Short answer type questions. Each
questions carries 2 marks, out of which any 15 questions are to be
answered. Apart from this, there are 8 Long Answer type
questions, each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl TR & Selaciivdh SUBRY B SKIHTS Yol il = |

Use of any electronic appliances is strictly prohibited.

Section- A (Objective Type Questions
Tus—3 (axqfrs y¥)
U9 G&IT 1 W 100 db b Yhd U b I IR fdweu ey v & foFd |

Tdh FE T | U ERT g T 50 ULl & WEl fAddwey &1 OMR—¥ie wR fafed o |

Uddh b foIv 1 3k [HeiRd 2| 50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. You have to mark your selected 50 questions on the OMR-Sheet.

Each question carries 1 (one) mark. 50x1=50

1. fte srefoms & = § 9 e sregyq fear Smar © 2
(A) afdara aRkar (B) Sfdad B

(C) SfdaTd e (D) s7H & |41

Which of the following is studied under micro economics ?
(A) Individual family (B) Individual firm

(C) Individual industry (D) All of these



i &l vy g% BT eug b WA & 3fIa AT ST Va
g7

(A) afte srfemet (B) wHfte srefemes

(C) SWRIdT g1 (D) Sudaa # A HIg TN

The subject matter of economics is being studied under which

branches ?
(A) Micro Economics (B) Macro Economics
(C) Above Two (D) None of these

=T 3ol ¥ 9 B Bodvrdre] fauReRT & 81 & ?
(A) S0 d10 Ho (B) AreTa

(C) i (D) @

Which of the following is not a welfare Economist ?
(A) J. B. Say (B) Marshall

(C) Pigou (D) Canon

SIHX T hl C)Cbl?'qcb AH KT % ?
NEUIREASINE] (B) Ao drHd
(C) ¥Hr = orTd (D) 3id &rTa

What is alternative name of opportunity cost ?

(A) Economic Cost (B) Equilibrium Price



(C) Marginal Cost (D) Average Cost

JNSIIRAT BT BT THRT & —
(A) FIT SUTEH B ?

(B) & IATE B 7

(C) SUTfed g% &I faarer &4 &l ?
(D) SWRIad |4

The Central Problem of an economy is :
(A) What to produce ?
(B) How to produce ?
(C) How to distribute produced goods ?

(D) All the above

W STAIfar o9 Aared & ?

ATU AMU

(A) vy (B) v
Aq AQ

(C) U (D) MU

How we calculate marginal utility ?

ATU AMU

(A) vy (B) g
Aq AQ

(©) 7o (D) oo



ST T SUAINAT F0MHS Bl 2, dd el SYAMTAT —
(A) 3rferpad Bxft § (B) Tes & rdl & |
(C) el &° ¥ dgdl 2| (D) 31 & B 2l

When marginal utility is negative, then total utility is -
(A) Maximum

(B) Starts decreasing

(C) Increasing at decreasing rate

(D) None of these

Pl g B AR SMTLIDHAT DI AT B bl &HT & —

(A) STHRT (B) Su=ifirar
(C) o (D) ®fr

The capability of a commodity to satisfy human wants is :
(A) Consumption (B) Utility
(C) Quality (D) Taste

AR & AR, “fHdl g% o AR & —

(A) g&T H 79T ST bl 2 |

(B) HaT # &I AT S HHhT % |

(C) T=aTH®: w9 H 19T ST Fahdll |
(D) A 3R B @i

According to Marshall, utility of a commodity :

6



10.

11.

(A) Can be measured by money

(B) Can not be measured by money

(C) Can be measured by cardinal numbers

(D) Both Aand B

goic U & foTv 3Masgsd & —

(A) Sl BT T8 (B) T deiR @

(C) SUHTERTT BT Hel AT (D) SWRIaa |
This is required for a budget set :

(A) Collection of bundles

(B) Prevailing market price

(C) Total income of the consumer

(D) All the above

M g1 TR YA et avall &I AT ¥eT <l & ?
(A) =1 BIcT o1 awgy (B) | Ty
(C) AT gt (D) A @R B <

With an increase in income consumer decreases the consumption

of which goods ?

(A) Inferior goods (B) Normal goods



12.

13.

14.

(C) Giffin goods (D) Both Aand B

Fifhd H | - 9% Ub Reb a%] DI IaeRY © 7

(A) TTg qAT BIHI (B) BT oIl Ui
(C) araar dT g, (D) 31 & BIg =l

Which of the following is an example of complimentary goods ?

(A) Tea and Coffee (B) Coke and Pepsi
(C) Rice and Wheat (D) None of these
fefl AT a¥g @ ART 9% & Il B © —

(A) FOTHD G ERISIE
(C) I (D) qRurfd

The slope of the demand curve of a normal goods is :

(A) Negative (B) Positive

(C) Zero (D) Undefined

ART BT A BT Y9Tfad B diel Tcdh da—3 & ?
(A) a%g @1 ygpfa (B) oMHd wR
(C) 3 &R (D) s7° & |+

Which of the following factor affects elasticity of demand ?
(A) Nature of goods (B) Price level

(C) Income level (D) All of these



15.

16.

17.

gfe el 9% & qou H 40 vl yRdds & R A H 60 Ufcrerd
gRRac 81 ar |RT & o 8 —

(A) o5 (B) —15
(C) 1 (D)o

If the demand for a goods changes by 60% due to 40% change in

price, the elasticity of demand is :
(A) 0.5 (B)-1.5

(C) 1 (D)0

ghls W HY HRT BT Al bl =ferRad & I Fad dral & 7

(A) 3TaTTd a3 (B) IRMI—T® I%q]

(C) faenfr =g (D) SwRi <t

Which of the following shows elasticity of demand less than one ?
(A) Necessary goods (B) Comforts goods
(C) Luxury goods (D) All the above

g DI THY § FOraH Icred & |l e uRafdd fed S Head
g?

INEGEa (B) Erefeprat

(C) a1y Srefpret (D) A

At which time all the factors of production may be changed ?



18.

19.

(A) Short run (B) Long run
(C) Very Long run (D) All the three

ST 95h Usel dgdl & R ReR BIex el IR®T HYdl & a8 dIa—3T I

HEATAT T 7
(A) APP (B) MPP
(C) TPP (D) & T

A curve which rises first and starts declining after that called :

(A) APP (B) MPP
(C) TPP (D) All these

19 3T STE (AP) @1frad BIaT 8, a9 e sarg (MP) ?

(A) 3T ST & FHEE BT ® |
(B) 3iRId SUTE | HH BIaT 2 |

(C) 3iaa SeaTe W 3ifdrep e ¥ |
(D) Sudad # & &g 1 & Fhe 7 |

When the Average Product (AP) is maximum, the Marginal

Product (MP) is ?
(A) Equal to AP (B) Less than AP

(C) More than AP (D) Can be any one of the above

10



20.

21.

22.

23.

JITBTAT St ufshar # fA=ferRad & & & @ A= 81 € 2
(A) Rer |wRE (B) uRad+ele A~

(C) A @orm B gFI (D) 31 ¥ B =l

Which factors among following we find in short-run production

process ?
(A) Fixed factors (B) Variable factors
(C) Both Aand B (D) None of these

=1 % 9 DT FUT I T ?

(A)AC=TFC-TVC (B) AC=AFC +TVC
(C)AC =TFC + AVC (D) AC = AFC + AVC
Which of the following statement is true ?
(A)AC=TFC-TVC (B) AC=AFC +TVC

(C) AC = TFC + AVC (D) AC = AFC + AVC

fFe=ferRad # 19 @8 § ?

(A)TVC=TC-TFC (B) TC=TVC-TFC
(C)TFC=TVC +TC (D) TC=TVC xTFC
Which of the following is correct ?

(A) TVC = TC - TFC (B) TC = TVC — TFC

(C) TFC = TVC + TC (D) TC = TVC x TFC

JIIR AT R © 2

11



24,

25.

(A) g8 fameu fSradT uReamT &x faar 13|
(B) T B3IT 3R

(C) SXTIRT 3

(D) 377 & =t

What is an opportunity Cost ?

(A) The alternative foregone (B) The opportunity lost

(C) Transfer earnings (D) All of these
SISRICIRCRENIRECIU RIS

(A)TVC xQ (B) TVC +Q
(C)TVC -Q (D) TVC = Q

Average variable cost is :-

(A) TVC x Q (B) TVC +Q
(C) TVC -Q (D) TVC + Q

U BH U I DI fba-l 9 A3 & T HAT R d° Fhdl 3| BH
BT AT 3TH BT —

(A) 3T STH & 31fdrd BT |

(B) 3iRI 3TH | HH B |

(C) Nd MTH @& AT BT |
(D) I BT |
A firm is able to sell any quantity of a goods at a given price. The

firm’s marginal revenue will be :-
12



26.

27.

(A) Greater than Average Revenue
(B) Less than Average Revenue
(C) Equal to Average Revenue

(D) Zero

frd9 a9 g °
(A) AR = MR(B%) (B) Mc = MR(B%)
(C) MR = MC(*) (D) & 9 ¢ 7]

Which of the following is correct ?

(A) AR = MR(B%) (B) Mc = MR(B%)

(C) MR = MC(=-) (D) None of these

BH BT v FfoRad § 9 fow od & {1 & R SIfiwad g ?
(A) st MR = Mc

(B) ST&f MC a% v@r MR &I -l | &< |

(C) A 3R B =M

(D) &% & BIg &

With which condition, firm will get maximum Profit ?

(A) Where MR = MC

(B) Where MC curve cuts MR from below

(C) Both Aand B
13



28.

29.

(D) None of these

BH bl AFTH el AT H -

(A) MC % MR &I SR ¥ ®led ? |
(B) MC a% MR &I =t & redr 2|
(C) A 3R B 31

(D) |41 3

In final equilibrium of firm :-

(A) MC curve cuts MR from above
(B) MC curve cuts MR from below
(C) Both Aand B

(D) All false

3 9 WA X8 Al a9 DI DA qAT GRI DI AE H gD AR
T Fad dRal © °

(A) | &1 A (B) gRt &1 @

(C) ufct @1 frram (D) ftt wer

If other thing beings same, What does the positive relationship

between Price and Supply Quantity signify ?
(A) Law of Demand (B) Elasticity of Supply

(C) Law of Supply (D) Supply Function

14



30.

31.

32.

fereforRad & dra—ar oo wd 8 ?

(A) TG B BT Td DT GRT B e T TR BT 2|
(B) gif o a1 ¥ SR $WR &I AR IT ¢ |
(C) gfRT &1 amd dcd JWIfId R 2 |

(D) Suja |+l

Which of the following statement is true ?

(A) Price and quantity have direct relationship ?
(B) Supply curve rises from left to right

(C) Supply is affected by many factors

(D) All the above

el & o= A et arell gRi Y@ &1 arF gl 8

(A) 3PS A BH (B) T®IE & SRR
(C) 3obTs | 3Hferp (D) T & R
The elasticity of a straight line supply curve originating from the

centre of origin is :-
(A) Less than unity (B) Equal to unity

(C) Greater than unity (D) Equal to Zero

THIIGR & fferRad & HF—) fagmar =2 g ?

(A) T @ 3R 31fte fAwdr  (B) Mae wRIMAa= &1 3@
(C) 71 WAl & Ude WR ufdewr (D) Iuad |+l

15



33.

34.

Which of the following is not a feature of monopoly ?

(A) One buyer and many sellers

(B) Lack of close substitutes

(C) Restrictions of new firms entry

(D) All the above

fave Se U fagivar @ -

(A) DI THITHRIG URTARTTT

(B) ®aat JATEDBNT ol
(C) UBhTEhRI &l
(D) THI®HR Ui aIfirdT SR redTfreR THi & |

Differentiated products is a characteristics of :

(A) Monopolistic competition only

(B) Oligopoly only

(C) Monopoly

(D) Both Monopolistic competition and oligopoly

T IIoTR # 3T 31 WA= MY & )6 Bl © 7
(A) got gfcrnfiran (B) SreunfiIR
(C) arqet ufcranfirg (D) IR

In which market, average revenue is equal to marginal revenue ?

16



35.

36.

(A) Perfect competition (B) Oligopoly
(C) Imperfect competition (D) Monopoly

IS =T § T faspar Bl § —
(A) daet oot SRR |

(B) ®ael YHIIBRIHS Ufcrarrar # |
(C) A T2 B gHI
(D) 3reTTfIdR # |

There are large number of buyers and sellers in :-
(A) Perfect Competition only (B) Monopolistic competition only

(C) Both Aand B (D) Oligopoly

19 I9TR # T@dd Yder dar afg e &1, S9dT AH § 7

(A) THTRIGRIHS TR aoiR
(B) 3qul yfcerarar &1 9ot
(C) Tof wRRNfTaT IR

(D) s | ®Ig TE

A market in which there is free entry and exit, the market is ?
(A) Monopolistic competitive market
(B) Imperfect competitive market

(C) Perfectly competitive market

17



37.

38.

39.

(D) None of these

dIVTIX Hed UTAT ildl g —

(A) TeudmTferT oI H (B) SreiapIfer otk |
(C) 31f Sreiaprel= otk | (D) sTH ¥ PIg T2l
Market price is found in :-

(A) Short Period Market (B) Long Period Market

(C) Very Long Period Market (D) None of these

fefl avg &1 Heu MuiRa gar & —
(A) AT & gRT (B) gii & gRT
(C) T ik gfRf @i & gR1 (D) WRHR NI

The Price of a goods is determined by -
(A) Demand (B) Supply
(C) Both demand and supply (D) Government

THE © —

(A) IS TH—SRITIROT A

(B) arifde oI + SXAT=RUT 31
(C) ExTTRoT 31
(D) s &1 P18 Tl

Rent is :-

18



40.

41.

(A) Actual Income — Transfer Earning
(B) Actual Income + Transfer Earning
(C) Transfer Earnings

(D) None of these

Tafts 1R &1 fA=forRad § dia—a1 dH € ?
(A) IHfEd SfemE R

(B) dafddsd gah1sal B el
(C) A aik B @i
(D) T & Py T

Which of the following is the limitation of Macro Economics ?
(A) Collective Economic Paradox
(B) Ingnores Individual Units
(C) Both Aand B

(D) None of these

fforRea § @ sF—w1 wfe 7 ?

(A) F#afea (B) d=ra
(C) fraia (D) oty
Which of the following is a stock ?

(A) Wealth (B) Saving

19



42.

43.

(C) Export (D) Profit

Tafte 31eeE & 31T &l vy & —

(A) I 3T BT g (B) SuHTadT o1 Rygr=
(C) Seuree 1 RigT (D) 7 & P13 el

The subject of the study of Macro Economics is :
(A) The Principle of National Income

(B) The Principle of Consumeer

(C) The Principle of Producer

(D) None of these

U Yell sreferdeer d AMfed dART & HuTd b © ¢
(A) STHIT

(B) for

(C) SUMNT + WAN T

(D) IUIT + RGN &g + e + g g

In an open economy, which are the components of aggregate

demand ?
(A) Consumption
(B) Investment

(C) Consumption + Government Expenditure

20



44.

45.

46.

(D) Consumption + Government Expenditure + Investment + Net

Export

ON O\ ON

IR UdTE B T id [=forfRad # i Imfiel 2 ?

(A) IRGRAT BT ydTE (B) amwil &7 yarg
(C) A o B gFI (D) sTH ¥ PIg 2l

Which of the following is included in real flow ?
(A) Flow of Goods (B) Flow of Sevices
(C) Both Aand B (D) None of these

U TR § pII—aT &7 Aftaferd Ygdr g ?
(A) Trrfas (B) fe<iras
(C) geias (D) T I+

Which sector is included in an economy ?
(A) Primary (B) Seconday

(C) Tertiary (D) All of these

FraforRea Seea | @NIdl 5 9y S1f~d TRy HEARl & —
(A) sTaegamaRll B ddfte 7g  (B) ®H H 99 2g
(C) A o B gFI (D) SWad H ¥ P 7Tel

Goods purchased for the following purposes are final goods :

(A) For satisfaction of wants

21



47.

48.

(B) For investment in firm

(C) Both Aand B

(D) None of the above

fhaT srefegaver | U ¥ & Sf=iTd Icariad AfTH avgall Jorm Harsll &

IR e BT HEd & —

(A) Fbe T ITS (B) IS 31T
(QELERCIGIIR (D) fage g Sars

The market value of all final goods and services produced in an

economy over a year is called :
(A) Gross National Product ~ (B) National Income

(C) Gross Domestic Income (D) Net National Product

GNP 3rawifs or g ?

(A) GNP 3rapifres = (™A GNP/ ar<dfde GNP) X 100
(B) GNP 3rviiftres = (aafae GNP/ =/ GNP) X 100
(C) GNP sraesifires = arafaes GNP / = GNP

(D) s &1 P17l

What is GNP Deflator ?

Nominal GNP
Real GNP

(A) GNP Deflator = x 100

Real GNP
Nominal GNP

(B) GNP Deflator = x 100

22



49.

50.

51.

Real GNP
Nominal GNP

(C) GNP Deflator =

(D) None of these

fede &3 # fAm=faRag § o9—0 Jarv afafed g 2
(A) Sr (B) faferaior
(C) =R (D) sfpT

Which of the following service is included in Secondary Sector ?

(A) Insurance (B) Manufacturing

(C) Trade (D) Banking

a1 & Wde &R TS Bl &I faare feae faar ?
(A) ¥R fibar (B) dfet URsTT

(C) #reiet (D) 574 = el

Who classified static and dynamic function of Money?
(A) Ragnar Frisch (B) Paul Einzig

(C) Marshall (D) All of these

I F = yorelt & frfalRaa § -3 o™ § 2

(A) |= goITe] (B) smudl w=anT H gfg
(C) anffeh SRTATATS el (D) Swaa |+l

Which of the following are the advantages of Barter System ?

(A) Simple System (B) More Mutual Co-operation

23



52.

53.

54.

(C) No Economic Disparities (D) All the above

I 9 3iTp sfear ®T 8 ?
(A) @RS I (B) =g &
(C) froh §a (D) 378 | BIg T2

What is Central Bank of India ?

(A) Commercial Bank (B) Central Bank

(C) Private Bank (D) None of these

IURS b & yrrfie ot fa=folRag 8 9 19— 8 ?

(A) ST THR HRAT (B) 0T T

(C) g fHfor (D) Sujaa |l

Which of the following is the Primary function of commercial

Bank?
(A) Accepting deposits (B) Advancing loans
(C) Credit creation (D) All the above

Bl 9 ARG =01 Bl § —
(A) §& R B SIRY (B) Gel ISR &1 UlhaT & SIRA
(C) CRR & w3 (D) 5% &

Central Bank controls credit through :

(A) Bank rate (B) Open market operations

24



55.

56.

57.

(C) CRR (D) All the above

Pl 9 VAT HRD KT B IUTIA] bl 98T Hhdl & —

(A) gENIE T (YUNT) TQTaR
(B) ufr gA@NlE g% (Rasd VUl Xe€) 9grax

(C) WR&RT uferfardl TRIGHR
(D) TR&HRT uferfadr daa

The Central Bank can increase availabilities of credit by :
(A) Raising repo rate

(B) Raising reverse repo rate

(C) Buying government securities

(D) Selling government securities

Bl db gRT DIA—AT &l SR DI Sl © 2
(A) FeTT g (B) Arer gaT
(C) Ryam (D) Sudad H | o+

Which type of currency is issued by the Central Bank ?

(A) Currency (B) Credit Money
(C) Coins (D) All the above
Aifad T & THE e 8 —

(A) SUTEHAT Ud SRR H gfg

25



58.

59.

(B) faceh fafma <% @t Reran
(C) g Rerzar
(D) 3775 & &+

The major objective of monetary policy is :
(A) Increase in output and employment
(B) Stability in foreign exchange rate

(C) Price stability

(D) All of these

forerifra & 9 —a1 9 =7 1 gRArTHe Sy T8 § ?

(A) 9% & (B) ¥ <ara

(C) Gl aT9IR a1 by (D) TE BIY 3T H R
Which of the following is not a quantitative method of credit

control?
(A) Bank Rate (B) Moral Suasion

(C) Open Market Operations (D) Change in CRR

ARg gaT &l IR 8lar & o9 CRR -
(A) TreaT 2 | (B) 93T 2|
(C) A @ B gFI (D) 31 & B =l

Credit money is increased when CRR

26



60.

61.

62.

(A) Falls (B) Rises

(C) Both Aand B (D) None of these

JfRIT ATHUTA TS BT Yol b ay & g ?

(A) 1960 (B) 1995

(C) 1997 (D) 2000

Banking ombudsman scheme was announced in which year ?

(A) 1960 (B) 1995
(C) 1997 (D) 2000

YR Ro/d §b 1 ggell R 7ol & § 77 9 Bl i SR B
& forg faem—forder enfda foy

(A) 22 ST 1993 (B) 15 #TE 1995

(C) 1 a1l 1999 (D) 31 ¥ B =l

R.B.l. announced the guidelines to issue licences to new banks of

Private sector on:
(A) January 22, 1993 (B) March 15, 1995
(C) 1 April, 1999 (D) None of the above

faf~ramT @1 A7 4 gfg 8 @ wre—ary MEC —
(A) gl &l B | (B) wredt STl 2 |
(C) Rer <& ¥ (D) 377 & B

With increase in investment, MEC

27



63.

64.

65.

(A) Rises (B) Falls
(C) Remains constant (D) None of these

A IR vgfd =1 5§ &9 8 ?

Ay Ac
(A) 3o (B) Ay

Ay . .
(OE (D) 37 & B ]
Which of the following is Marginal Propensity to consume ?

Ay Ac
(A) = B) 7,

Ay
(C) Al (D) None of these
ISl @l AT & |
(A) e (B) o

SN JARIT 3
(C) A 3R B smi (D) 374 A ®Ig Bl
Marginal efficiency of capital is :-
( A) Prospective Yield B Cost
Cost Prospective Yield

(C) Both Aand B (D) None of these

D D JAIIRIT H YA ART b g Bl feifad H B9 AW 9
JHRT ST & 7

(A) g7 ISR Fel (B) 31quT RISHTR Aol

(C) A aik B @i (D) &4 & BE &

28




66.

67.

Which of the following is known as the state of Deficient in

Keynesian Economy ?

(A) Full Employment Equilibrium

(B) Under Employment Equilibrium

(C) Both Aand B

(D) None of these

B B [OTH BT ARG # HH—H T gATfad dx Fadhddl & 2
(A) FT=T F= wgfa (B) ¥ STHIT Hgfey
(C) A @orm B gFI (D) 31 ¥ B Tl

Which factor affects Keynesian Multiplier ?
(A) Marginal Propensity to save

(B) Marginal Propensity to consume

(C) Both Aand B

(D) None of above

IfE spferawen # M &1 Fded WR Yol IR & &R ¥ ygd FeiRa
&1 STl 8, 99 S P8l Sl & —

(A) =7 41T BT g2 (B) AT &I ey

(C) @i =T @ e (D) Swia & § P 7S

29



68.

69.

If income equilibrium level in an economy is dertermined at the

level before full employment, it is known as the state of :
(A) Deficient Demand (B) Surplus Demand
(C) Partial Demand (D) None of the above

=g HAT BT Slp B B forg FrEfeiad § wH—4 Hifgd S fby o
D § 7

(A) 9% R H HH

(B) Gt aT9TR | Uferferdl @i

(C) & BIY 3UTT BT HH HRAT

(D) Swat T

Which monetary measure may be adopted to correct Deficient
Demand ?

(A) Reduction in Bank Rate

(B) Buying Securities in Open Market

(C) Reducing Cash Reserve Ratio

(D) All the above

THIAD JRTA DI S B & oy Y@ Aifad U™ BI— & 2
(A) 96 R ¥ gfg (B) el IraiR # gferferdt 9=
(C) e &Iy 3ruTd H gfg (D) Sudad |+l

Which monetary measure is to be adopted in correcting

Inflationary Gap ?
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70.

71.

72.

(A) Increase in Bank Rate

(B) Selling of Securities in open market
(C) Increase in cash Reserve Ratio

(D) All the above

gote fifed TR & Bd & —
(A) ddferd Fie (B) 9= &1 dole
(C) =1 &1 dole (D) SWRIad |4

Budget are of the following types -

(A) Balanced Budget (B) Surplus Budget
(C) Deficit Budget (D) All the above
el IR § —

(A) 3T B (B) SUBR &

(C) A 3R B gFI (D) 374 A PIg 7l
Direct tax is :

(A) Income tax (B) Gift tax

(C) Both Aand B (D) None of these

(T qole H —
(A) I, I A eI BT B |
(B) 3T @1 e g AfH BT ¥ |
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73.

74.

(C) =TeT 0T a1 AIe BTUHR GRT {6 Sirar 2|
(D) @de (B) vd (C)

In an unbalanced budget :

(A) Income is greater than expenditure

(B) Expenditure is higher relative to income

(C) Deficit is covered by loans or Printing of notes

(D) OnlyB and C

TRBHR Foic & Aredd | b Ieedl Bl QR HRA BT YA Bell @ 2

(A) 3 famrd &1 dicared  (B) |gford &= faerd

(C) 3™ ud |HRT &1 gAfaarer (D) Iudad a1

Which Objective Government attempts to obtain by Budget ?
(A) To promote economic development

(B) Balanced Regional development

(C) Redistribution of income and wealth

(D) All the above

7 H ¥ BIF WRBR gRT IR ol & DRUN DI 3R & BN bRl
g7

(A) T BT (B) wrifires wmeT

(C) Rrorea =ret (D) Sudaa T
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75.

76.

77.

Which of the following indicates the reason of borrowings by the

Government ?

(A) Fiscal deficit (B) Primary deficit

(C) Revenue deficit (D) All the above

doic & Gocd fHfIRad § dI9 § ?
(A) gTe grftaat (B) svic =9
(C) A @R B < (D) 57 & Pz &l

Which of the following is the component of Budget ?

(A) Budget receipt (B) Budget expenditure
(C) Both Aand B (D) None of these

facel faffma IR &) &1 R g 8 —

(A) RPR gRT (B) AlaI—dTeT X1

(C) fawg d& g (D) 4T iR gRi wfdadl gry

Foreign Exchange Maket rate is determined by :

(A) Government (B) Bargaining

(C) World Bank (D) Demand and supply forces

YA Aol ¥ AT Bl BRI & —

(A) Ut HROT (B) anfdfe wrRor

(C) IS HIROT (D) g7+ & ¥l
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78.

79.

80.

The reason of imbalance in balance of Payment is :

(A) Natural Reasons (B) Economic Reasons

(C) Political Reasons (D) All of these

3qed #al & =g F=fealad # fba afdafera fdar siran 2 2
(A) ST (B) STETSRIT
(C) == (D) Swja |+l

Which of the following is included under invisible items ?
(A) Banking (B) Shipping

(C) Communication (D) All the above

o @ & erra fefoRaa § 9 6 wnfie foar Sirar & 2
(A) SRR Aix (B) froi <
(C) fac=h ucger fafamT (D) Swfad w1

Which of the following is included under Capital Account ?
(A) Government transactions

(B) Private transactions

(C) Foreign Direct Investment

(D) All the above

YA Hgel H SRIerd BT 711 § | DI A1 HRoT & ?
(A) STRTERT v (B) IoiIfaes JTReRar
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81.

82.

83.

(C) =R 4k (D) 374 A PIg A7l

Which of the following is an economic reason of imbalance in

balance of Payment ?

(A) International Relationship (B) Political Instability

(C) Trade Cycle (D) None of these

JUHIERIT BT Al fdwg a1 8 ?

(A) A= TR = Hd (B) W= SyAIfar < qed

(C) W= YA > 7y (D) 9% A BIg T8l

What is the Consumer’s Equilibrium Point ?

(A) MU = Price (B) MU < Price
(C) MU > Price (D) None of these
IATEA & 1§ -1 qed © ?

(A) fA (B) 5
(C) gon (D) Swiaa

Which of the following is a factor of Production ?
(A) Land (B) Labour

(C) Capital (D) All the above

foas Per ? iyra WY adfde fAsa 'ldr € 3R e smeel

fagm ?
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84.

85.

(A) #Teict (B) weiH
(C) &= (D) 31 ¥ BIg 2l
Who said ? “Economics is sometimes Positive Science and some

times Normative Science.”
(A) Marshall (B) Freidman
(C) Keynes (D) None of these

o & foa R W™ R onffe TRl &1 afr @ § 7
(A) 3R smaTadHany (B) Sifda A
(C) 31 3iR 9 g1 (D) SWad H ¥ P -TEl

On which base, structure of economic problems has been

installed?
(A) Unlimited Wants (B) Limited resources
(C) Both Aand B (D) None of the above

qeRIAT Ieh fawelyor ¥ 3T aRjell & 419 Ay &1 rgura g9l 3—
(A) Bra X (B) ewer A%

(C) Tewerar fera (D) Suaa a+Y

The ratio of exchange between two goods in indifference curve

analysis is shown by :
(A) The Price line (B) The indifference curve

(C) The indifference map (D) All the above
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86.

87.

88.

|H WA ITIREAT 199 & SR IUHIadT & Aol &I e & —

MUy MUg MUy _ Py
(A) P4  Pp (8) M.Ug Pg
(C) A 3Rk B <t (D) 3raR¥fya

According to the law of equi-marginal utility, the condition for

consumer’s equilibrium is :

A) MUy _ MUg (B) MUs _ Pa
P4 Py MUg  Pg
(C) Both (A) and (B) (D) Undefined
gofc X1 BT Tel BT & —
Px Py
(A) - 7 (B) -+~
)+ D)+ 7
Slope of budget line is :
Px Py
(A) - 7 (B)— -~
Px Py
(C) + 7 D)+ o
BB & oI H gl BF W A B A1 —
(A) gedl B (B) Treaht & |
(C) ReR & ¥ | (D) 571 & IS TR

Rise in coffee price, the demand of tea :

(A) Rises (B) Falls
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89.

90.

91.

(C) Remain Stable (D) None of these

SATEH Bold ¥ Iare fhadr B & ?
(A) D (B) ST & ATl @
(C) el =g Al (D) 399 & ®Ig T8

In Production function, Production is a function of which ?
(A) Price (B) Factors of Prduction

(C) Total expenditure (D) None of these

S 100 TP UG PRI R hoa ReR AN w0 30 81 AR 34
UReRil dINTd %0 3 B, Tl fHol ANTd BT

(A) %0 3 (B) %0 30

(C) 0 270 (D) %0 330

When the total fixed cost of producing 100 units is Rs. 30 and the

average variavble cost is Rs. 3, total cost is :
(A)Rs. 3 (B) Rs. 30
(C) Rs. 270 (D) Rs. 330

AT IRTT dh BT MR Bidl & —

(A) U - TR ST (B) FHPIOR SffoaRaeryy Si4m

(C) X - 31T &1 FAMR &1 (D) 399 | ®Ig A=l

The shape of average cost curve is -

(A) U - Shaped (B) Rectangular hyperbola shaped
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92.

93.

94.

(C) Line parallel to X-axis (D) None of these

Icured H gfg & HILY—AT Bl AN UG el uRad-eiiel drrd # iR
(A) EredT ST € | (B) 9T ST & |

(C) ReR &< 2| (D) 374 9 ®Ig Bl

With increase in output, the difference between total cost and total

variable cost :
(A) Decreases (B) Increases

(C) Remain Constant (D) None of the above

HH BT A FrforiRaa § fhd ek &I g1 $_ W 3AfSad s8R 2
(A) HIHI=T 3H = HHE ARTd

(B) HHT=T o1Td ash AT SITH NRGT Bl A1 | dredl # |

(C) A 3iR B M

(D) &8 ¥ BIg el

With which condition, firm will get maximum Profit ?

(A) Marginal Revenue = Marginal Cost

(B) Marginal cost curve cuts Marginal curve from the below
(C) Both Aand B (D) None of these

gfxf @ &g & A9 fA=ferRed # g @ 9 S1d @ oIl g 2

AQS
(A) % (B)Z x
P
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95.

96.

QS AP P

The measurement of the elasticity of supply is expressed as :

AQS

s s 2
(A)% (B)APXP
QS AP P

I DI HAT Ud ART & 41 U™ T 9T ST § —

(A) Had THITHR H |

(B) dadt TR gferanfirar

(C) THIfI®R Td YRR ufaaifar =l #
(D) @waer qoi yfcrarfrar

There is an inverse relation between Price of goods and Demand -
(A) Only monopoly

(B) Only monopolistic competition

(C) Both under monopoly and monopolistic competition

(D) Only Perfect Competition

g1 ¥ gRada & fA=forfRad # dI9— aRoT 8 ?
(A) SUHTERT &1 37§ gRec

(B) wHafad asll &I dHa H yRad
(C) s gfg
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97.

98.

99.

(D) e |+l

Which of the following is a reason of change in demand ?
(A) Change in consumer’s income

(B) Change in price of related goods

(C) Increase in Population

(D) All the above

gRaR ®al &1 A=fRad # dIa— Jav yg= ol & ?
(A) = (B) s
(C) UoT ik 3T (D) Swja |+l

Which services are provided by families to a firm ?
(A) Land (B) Labour
(C) Capital and Enterprise (D) All of the above

ST Afd & 3hrd & wnfirer fear oar g 2

INSIESIREREE (B) &=

(C) Ardsifd vl (D) 7 & |+l

Which of the following is included in Fiscal Policy ?
(A) Public Expenditure (B) Tax
(C) Public Debt (D) All of these

goic ¥ Aftaferd 8 Jodr 8 —
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(A) 314 =TT (B) fa<irar rer
(C) URf™& =rer (D) S8 & I

Budget may include :
(A) Revenue Deficit (B) Fiscal Deficit
(C) Primary Deficit (D) All of these

100.  H&T gRT &1 99 S &Rar & ?
(A) TR IRBR (B) Rotd §& offw sfosar
(C) arforfas d& (D) ATSTT SMART

Who regulates money supply ?
(A) Government of India (B) Reserve Bank of India
(C) Commercial Bank (D) Planning Commission

Huvs—9 / Section-B

o ST 939/ Short Answer Type Questions

U AT 1 ¥ 30 IP oY SR © | 9 ¥ el 15 Ul & IR < | AP YA
& farg 2 ofa FuiRa ¥ (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1. JIIIRT BT Blg & Daly TIRN &l fIRau |

Write any two Central Problems of an economy

42



10.

11.

1 wgfe fag @ e ?

What is the point of full satisfaction ?
SENIEGIICE G

What is indifference curve ?

AT & 9% & BIe IT 3udrg ford |

Write any two exceptions of Law of Demand.

QUi STeaR ol Quiaal deiraar AT 61 37 ford |

Write the meaning of Perfectly elastic and Perfectly inelastic
demand.

H I, A IUE UG HHT IATE H FIT FH31d © 2

What do you understand by Total product, Average product and
Marginal Product ?

aRadeiier ARTAl & R®IT SR § ? T SeTeRv IR |

What is meant by variable cost ? Give two examples.

i3 sreferawer @1 a1 favmany ford |

Mention two features of a mixed economy.

HAT—THIRT BT ARFTNT o |

Define inflation.

SRITARYT YA T © 2

What is transfer payment ?

R ¥ oRads & @I PR § ?

What are the causes of change in supply ?
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

9Rf A o B IR PuRe Ted fiRkay |

Mention the four determinants of elasticity of supply.

fa aoR % AR = MR 1T © ?

In which market does the condition AR = MR prevail ?

ST 3R SR # aFR TSy |

Explain the difference between excess demand and excess

supply.
DT AT Ao &R Bl FeiRa o=l g 2

Which forces determine wage rate ?

ST a%] Ud YoINTd a&] ¥ 3R qarsy |

Distinguish between consumption goods and capital goods.

UdTg HE & ool I IGTExUN Bl Sooikg &N |

Explain any two examples of flow concept.

ISR DT WR Yg TS ITE | Y T FH3d § 2

What do you mean by Net National Product at market price ?

a1 YT & IR Y99 gcdh FHsIsy |

Explain the four major components of supply of money.

Jrafer 59T R 8 P

What is time deposite ?

e MY srgura (CRR) T21 denf<ies dRerdm U (SLR) 3 @r 3R
g7
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22.

23.

24.

25.

26.

27.

28.

29.

30.

What is the difference between Cash Reserve Ratio (CRR) and

Statutory Liquidity Ratio (SLR) ?

IUART AT T | T HeeT © 2

What is the relationship between Consumption and Income ?

"feR® AT TS <RI BT IdTe B |7 WL PN |
“‘Excess demand shows inflationary gap.” Clarify.
YR Fhl BT aRFTRT A |

Define trade Cycle.

ATSHT g IR IR—ATTHT g H =R 9arsy |

Differentiate  between Plan Expenditure and

Expenditure.

TN JoT @ 3faHcdd Ud Y&l B BT T WU & 2

Non-Plan

What do you mean by Devaluation and depreciation of domestic

currency ?

AT Y T AR AT H R TG |

Distinguish between Balance of Payment and Balance of trade ?

IOG & Ud SIRTd &0 § HE BTy |

Distinguish between revenue expenditure and capital expenditure.

R O UG W~ a9 H 3R W PN |

Distinguish between complementary goods and substitute goods.

SUHIFAT Tl T 372 a1 & ?

What is the meaning of consumer’s equilibrium ?
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4" Sa9F 939 (Long Answer Type Questions)

U9 GRYT 31 O 38 db oY SN 2 | 398 A fhal 4 Ul & SR S | YD U

& g 5 o FEiRa §) (4x5=20)

Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

34.

35.

36.

37.

AT SR & a9 &1 FHssy |

Explain the Law of Equi-marginal Utility.

AN 1 7 ? AT & MgR$ a« B gAssy |

What is demand ? Explain the determinants of demand.

Bl a8y @ oIy |FT & dma | & A0 B o I Al TR
PIRTY |

Explain the Total Expenditure Method of measuring Price Elasticity
of Demand of a commodity.

B & Wk § ged uRiwe B Fraw wEEy |

Explain the law of diminishing returns in context of agriculture.

T 3 DI 0T B BT 3 fAf &1 goig By |

Explain the Income Method for calculating National Income.

q&T & BT BT JoE N |

Explain the functions of Money.

ITIATRIG §6 | MY RT FHIT & ° 59D ARG a7 & FE | 87

What do you mean by Commercial Bank. What are the limitations

of its Credit Creation ?
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38. U PR DI GRATYT ST | $HS [U—aIY Fd1gy |

Define Direct Tax. Explain its merits and demerits.
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